oooodouogo g sg
Jubogdbougtdboodbood
oo otdbogdo

Jo: 00 ogobogd O

20010 120 50

1 O0o0ooood

00000 (module)y DODOOODOOOO0O0O00O0ODODODOODOOODOODOOODODOOOO
gobbobboodobobbooobbboobbooobbooobbooobooon
gobbooboogobbuooobuooobbooobooobboobboobboon
ggobbbbuooooobbbobbodooooobobbboooobbobobbooooon
gobooobboobooobooobbooobbooobbuooobbooobboon
goboboobooCamlO0O0O00O0O0ODOOO0O0ODOOODOOOListDO0OO0O0O0ODOO
gogooboogn

0000000000000 000O0O0O000000000 (o000 O0)oooooo
goboboooboboogbbobboooboobboobbooobboooboboon
gobodbboobboodobbuooobbuooobbooobooboooobooob
000000 (0000000000000 00000ooooooOOoOoOo0oOooooOO
0000)0000000000000000000000

OCaml DODOOO0ODOODODOOODODOOODOOODODOOODDODODODDOO 2
gogbbbuoggbbboooobon

2 JOodoooooooooon

gooboobooooooooooooobooboooboooobooooboooooCaml
UO0000000OList, Array, Sort JOUOODOO0OO0D0DOO0O0000O0O0OUOPrintf [
goobboooobobooOdsysggooooopooosho oCamlODOOO0OOOOOOOO
gobobogdbbuogobbooobobooobbobbuooobooobbooobobon
g 1ugoobbbdoodibb List bbb UdQuene U000 ooooooon

O0000o0oooooo(ooboooo)y.(OoOoO)ooooOOODOOoDOOOODDOOO

1



# List.length [5; 6; 8];;

- : int = 3

# List.concat [[4; 35; 2]; [11; [9; -4]11;;
- : int list = [4; 35; 2; 1; 9; -4]

oddogooobobbbbbbOO0O rev, append, map, fold_left, fold_right 000
Udbo0 Listdooobooooobobooo

Queve D ODDODOOO0O0O00O0O0O0O0O0O0O0O0O0O0O0O0O0OOOOOOODODOOOOON
U00b0Db0000bbbU0odbobbU0dOlOaedd, take OO DO OUOOOODDOOOOOO
Jddddddddduouooiobbblada 000000 DO take O OOO
Queve O OOOOOOODODOOODOOOODLODODOOODDOLDDOOUODOUODLDDOO
JodooooioiDl ’a Queue.t OO0 OO

# let q = Queue.create ();;

val q : ’_a Queue.t = <abstr>

# Queue.add 1 q; Queue.add 2 q;;
- : unit = ()

# Queue.take q;;

- : int =1

# Queue.take q;;

- : int = 2

# Queue.take q;;
Uncaught exception: (ueue.Empty.

Udbbbuodd Empty U Quewe U U UOOODDODOOO0OO0ODOOOOO0

goggbobbbobotooooooooooboobbboodoooooooooooon
open O ODOOUOOOOODLDDODODODOOUOOOOODLODOODOOOOOOOODLODOOOO
gogoboboogooobogo

# open List;;

# length [3; 9; 10];;
- : int = 3

U0 open UUOUO0Oopen U OUOOOODODOOOOODODODOOOOOODOOOODODOD
gbobooboboboobobobobooboobobooboboboobboon
ggbbobuoooobbbuoooobbbuoooobbbooooobood

3 bUoooobogao

gobodgobobodgbbuooobbuooobobooobooobboobbooon
gobboobouoodibih Treedboboog



# module Tree =
#  struct
# type ’at = Lf | Br of ’a * ’a t * ’a t
#
# let rec size = function
# Lf >0
# | Br (_, left, right) -> 1 + size left + size right
#
# let rec depth = function
# Lf >0
# | Br (_, left, right) -> 1 + max (depth left) (depth right)
# end; ;
module Tree :
sig
type ’at = Lf | Br of ’a ¥ ’at * ’at
val size : ’a t -> int
val depth : ’a t -> int
end

0000000000 000000 module D00O0ODO(ODOO0O0OODO)000OOODO=0
OO0 struct,end 000000000 OO0O0DOOO0ODOO0O0O0O0O0O0OOIet0O0OO0O
UO00O0O0type DUOOUOUOOOexception UUUOOOOOopend U 0OOOO module
gboooobobobooobobobobooobooboobobooobobobDooo
000000o0o0o0o0U00o((@oo00oooo0ooooo0UoooDooOoooooO
0000)00000Q0o0oDOD ;;, 0000000 o0oooooOo

gboobobooobobobobobuboob0ob0obUdbUdlmodule Tree : sig
UOend OO0 OO0ODODOOOODDOOOODLODOOODLDOOOODLOOODLDOOOOO
O000O0sig,end 0000000000 OOO0OO((signature) 00000000000
goooboobobooo

goboooobbooobbboooobbboooobbboooobbboooon
gooobooobuooboooboooog

e 00 (DODDODODO)DOODOUODODODODDOO
e cmpty UOOODODOOOODODO

e add OO UOOOOODODOOOODO

e retrieve U OOODODOOU

e OUOOODDODOOUOODN Not_found O OOM

goooog
gbdbogbboobobooboobboobuoobbobboobuoobbobbab
gogbbboooobbboooobbbuoooooon



# module DictionaryL =
#  struct
# type (a, ’b) t = (Pa * ’b) list
#
# exception Not_found
#
# let empty = []
#
# let add key_contents table = key_contents :: table
#
# let rec retrieve key = function
# [] -> raise Not_found
# | (key’, contents) :: rest —>
# if key = key’ then contents else retrieve key rest
#
# let size = List.length
# end; ;
module DictionaryL :
sig

type (’a, ’b) t = (’a * ’b) list
exception Not_found
val empty : ’a list

val add : ’a -> ’a 1list -> ’a list
val retrieve : ’a -> (’a * ’b) list -> ’b
val size : ’a list -> int

end

4 OJ0O000O0O00ooooogood

gbobogbbooodbboobbuoobbooboooobobooboboobboon
0000000000000 (000000)0000O00D00O0O000OOO0DOOo0oOoDOO
0000000 (0000o0oooooooD)0o0O0ODODODO0000000000ooog
ggbbbuoogobbodo

goobboodgbbooobbbooobbogoboobbuooobboooboon
gbobobodgbboodobbobbuooobbuooooobobooobboobobboob
gobboobobooguoobbuogoboobbooobboooboooobobooon
00000000000000000000000000000000 (encapsulation) OO
gogooobod

gbbobobboooboobbodoboboboobbodoboboobboobooon
gobooobbooobboogbbobbooobboobuoobboobooboobooon
gbogbobooboboboboboboboboobobobonoobbooooon
0000000000000 0000000DO0OD (DOD000000000O00000)d
gbgboboobobobobobobooboboboobobooboboboob



gogboobooogoon
gbogbgoboooboboboboobobobuooboboboboooobobon
gogbobuogobboobboobbuooobbuooobbuoobboboobobooboon
0000000000000 00 (0000000 ooOoODOODOOOOOoDOoDOoOooOoO)™
Ubb00add DO0ODOOO0OO0DOOOODDODOO0ODOOOOOOO0ODDOO0OODOO0On
gogbobobooooobobooooboboboooobbbooooobbbooooobobobo

# module type DICT =
# sig

# type (Ca, ’b) t
# exception Not_found
# val empty : (Pa, ’b) t
# val add : (’a * ’b) -> (’a, ’b) t -> (’a, ’b) t
# val retrieve : ’a -> (’a, ’b) t -> ’b
# end; ;
module type DICT =
sig

type (’a, ’b) t
exception Not_found
val empty : (’a, ’b) t
val add : ’a * b -> (’a, ’b) t -> (’a, ’b) t
val retrieve : ’a -> (’a, ’b) t -> ’b
end

000000 module type 00D O0OOOODICTOOOOODOOODO(ODOOOOOOO
0000000000 000DD0)D=0000 sig,end000000D0OD0OOOCOOCOOO
000000000000 b0obO0obO0obDO00bO0bO0obOO0o0OO0obOOoDOoOobOoDoOooOoo
go0oo0obooobobooboboobooonIcTUODUOUODOOODDOODOODD
t, U0 Not_foundl [ empty, add, retrieve U DU OO0 ODOOO0OO0OOOOOODNO
ooooog

DICTUOUODN DictionaryL OO UODOOOOOOOO0OOODOODOODLDOOODOOO
O0size D000 0O00O0ODOODOOOOOO typeOOOODOOoOoooooooooooO
000000000000 bOO00O000obO0o0ob0ooDbOOobDoOoooooag

# module DictionaryAbs : DICT = DictionaryL;;
module DictionaryAbs : DICT

goobo . ogobboobobooobboobbooobobooob nIcTODOODO
sigend 0000000000000 DO0O0DO0ODOODOOO0=00000000000000
goooboooboooog
000000000000 DictionaryL U DictionaryAbs U OO OOOODOOON
UOdO0UODictionaryAbs U0 size HUUOUUOOUOOOOOOOOO
# DictionaryL.size;;

- : ’a list -> int = <fun>
# DictionaryAbs.size;;



Characters 0-18:
Unbound value DictionaryAbs.size

type UOUOUOODODOOOO0O0OOO0O0DODOUOODictionaryAbs U tUOOOOOOOO
gboboobogobboobbooobboobbuooobooboobbobboob
gbooboobooboobo

# let emp = DictionaryAbs.empty;;
val emp : (’a, ’b) DictionaryAbs.t = <abstr>
# DictionaryL.add ("A", "the first letter of the English alphabet") [];;
- : (string * string) list =
["A", "the first letter of the English alphabet"]
# DictionaryAbs.add ("A", "the first letter of the English alphabet") emp;;
- : (string, string) DictionaryAbs.t = <abstr>
# DictionaryAbs.add ("A", "the first letter of the English alphabet") [];;
Characters 68-70:
This expression has type ’a list but is here used with type
(’b, ’c) DictionaryAbs.t

gbobooooobobD Do empd0oooobOobooboOo0ooboboOobOobDobDoon
gogbobobooogbobbbuoooubbbbduoddbibD DictionaryAbs DU OOD
U add U retrieve U O UOOODOOOO0OOOOOOODOOODOOOOOODOOOO
0000000000000 000000000DaO (abstract data type) 000000000
gobogbbuogobboobbuoooooobboobobboobbooobboon
gogbbobuoooobbbooooobbboooobboboooon

00000000000000000000000000O00ODOODO0O000OO0O (00
0000000oooooooU0OoUoOooD)booco00gUoooDoooOoUoUooooDoooO
goooog

gobogobooob bodobbodobbodobboobbooobbooobboob
gobobooobboonoboobbuooboboboboboobobboobbooobboon
gbobbogbboobbuoobbooobboobobboobbbobooobooob
00000D0D0O00ODDoOOoOOOO0O0OD0DODOO0OO0ODODODOOOOOOCOCOO(@O)DOOOOO
ggooobod

gobboodooboobobboobobbooboobboobooboboboobboon
ggbbbuoooobbooooobobo

e U type... O val... OOODOO
e type t U type t = ... 00O UOOOOOOO0O
etype t = (0 )ODODODOOOOODDDODOODOOOO t0000(0)yOOooooo

30000000t00000000000000O0O0O0OO000O0O00O00O0OOOOOO0O0O0O
OODICT O val size : ... O0O0OOtype ’a t O type (a, ’b) t = (a, ’b) list

6



gogbobbobbougogobobboduoogbibbbdd bictionaryL OO OOOOMO
gbobogboooo

val retrieve : ’a -> (’a, ’b) t -> ’b

val retrieve : ’a -> (’a, ’b) list -> ’b

gogooooooobon
000000000000000000000000000000000 00000d (signature
matching) 000000000

Exercise 8.1 0000000000000 O00O0O0OO)000000O00O0OO0ODOOO
00 (¢t) Quewe.t 0000 (()OODODODODO0O0O0OODOOOOOOOOOOOOOOOOO
gobodgboboooboobobooobbobobooobbooobboooboboon
ggooobod

# module type QUEUE =

# sig
# type ’a t
# exception Empty
# val empty: ’a t
# val enqueue: ’a t -> ’a -> ’a t
# val dequeue: ’a t -> ’a t
# val hd: ’a t -> ’a
# val null: ’a t -> bool
# end; ;
module type QUEUE =

sig

type ’a t

exception Empty
val empty : ’a t

val enqueue : ’a t -> ’a -> ’at
val dequeue : ’a t -> ’a t
val hd : ’a t -> ’a
val null : ’a t -> bool
end
ggooo

e 1UUUDNO empty
e IO DUDODUODDOODDOODN enqueue
e IDUOOUDOOODOODODO dequeue

e ]J0DOD0ODOD(DDOOO)0DODO nd

7



e JUUUUOULUDDDDN null

gobboobbboodgobbugbbbooibbibdd uenet OO0 oOOOOn
oooooboooorL; 55 4; 2; 300000 1, 5, 4, 3, 200000000000
O Quene2 000D DO0OO0ODOOO0O0O0O0O0O0OOODODODODOOCLL; 5; 41, [2; 3) O
oooo 1, 5, 4, 3, 2000000000000 0O0O0OOUOODOUOOOOUOOOO
00)0o0oO000o0O0O0O0000oOoO0O0U00OoOoOOO0O0D0DOoOODOOoOoOoOoOOO
ggbbbuoobbboooobbobuooobbbuoooobbbuoooobon

module Queuel : QUEUE =
struct
type ’a t = ’a list

let hd = function [] -> raise Empty | x :: rest -> x
end

module Queue2 : QUEUE =
struct
type ’a t = Queue of (’a list * ’a list)

let hd = function (Queue ([],_) -> raise Empty | Queue (x :: _, _)) -> x
end

Exercise 8.2 U0 0O0O0O0OOOODOO0ODODO0OOOOOOOOOODODOODODODODO
0000000000000 000? (000 empty D00 DICTOOOOOOOadd OO
ODpICcTOOOOOOOODOOOD)

module type BOGUS1 =
sig
type t
val f: t -> int > t
end
module type BOGUS2 =
sig
type t
val e: t
end

5 Uuooboobodooooobogn

00000000000000000000O00C00000O0(Co0ooooooOo0O
000000000 000D0)00000000 occanlc 00O OODODODOOODODDOO
goooo

0000000 ocamlc DO ODODOOOCaml 00D ODO0DDDOOOO (D000 .ml)0O
gobboboooboboboogooboo



ocamlc -o (0O OOOODO) (OCem!ODOOOODOODO)

000000000 000000(0000000)00000000oooooooog
U -o000bUO00oobbbUacut o ouooooon

igarashi@zither:text> cat hello.ml
let _ = print_string "Hello, World!\n"
igarashi@zither:text> ocamlc hello.ml
igarashi@zither:text> a.out
Hello, World!
igarashi@zither:text> cat fact.ml
let rec fact n =

if n = 0 then 1 else n * fact (n - 1)
let _ = print_int (fact 10)
igarashi@zither:text> ocamlc -o factl0 fact.ml
igarashi@zither:text> ./factl0
3628800igarashi@zither:text>

gooodooooooooooooobooooboooo oo ooooooon
O00o0o0ooooooodobooooouoboOooddlest . =00000000O0O
0000000000000 0000000(CO0 mein 0000000000000 O0O0O
O00000000ooooog)

DdddddooooooooooooobobooboooooooOoOoOon OCamlOOO0O
ODo000od0oooooooooooooooo0oooouUNIX OOoooooooooon
JddddooooooCaml D00 00000O0O0OOOODODOOfee.m1 ODOOOOOOO
O00odoooooooouooooobd Feod0odoooonooonoooooon
fact.ml 0 main.m1 OO OO

igarashi@zither:samples> cat fact.ml
let rec fact n =

if n = 0 then 1 else n * fact (n - 1)
igarashi@zither:samples> cat main.ml
(* main.ml *)
let _ =

print_int (Fact.fact 10);
print_newline();

main.ml 00O Fact OOO0O0O0OO factOOO Fact.fact U OO OQOOOOOOOOO
goooooooooooooooooooooboooooooooooog

igarashi@zither:samples> ocamlc -o factl0 fact.ml main.ml
igarashi@zither:samples> factl0
3628800

gbb-cOUOgbooboobbboobobbuoobbooboobboobbooon
gogobobbbuoduogobbbb.emiDObObOO0O0O0OO0000LDOOOOO0040non
godgoobobbobootdd.cho DO O0OOOOOO0OooOOOODLbOOO0O00Ooooon



goobobbobb0.cni DOOO0O0O0O0DOODOOOO0O0O0O0OO0DODODOO0O0O0O0000
00000000000 (.ecmo 000000000 D0)00000main.ml DOOO0O0OO
goobbobbouoooib.ecmo 0000 OOOO0O0O0OOOODOOOO0OO0OO
gboogod

igarashi@zither:samples> ocamlc -c¢ fact.ml
igarashi@zither:samples> ocamlc -¢ main.ml
igarashi@zither:samples> ocamlc -o factl0 fact.cmo main.cmo

goobboboooobobodg -igubbobuooooboboooobobbooon

igarashi@zither:samples> ocamlc -i -c fact.ml

val fact : int -> int
goooouoooobbbobbbbbbbbbodooooooouoooobbobbbb
oo

gboboobboobobooobuooobboobbooobuooobbobbboon

gbobooobobooobuobobogbboogbboobboobbooooboboon
gobobdobboodbbuodobbbooobobooobbooobooobbooob
gbboogoboooboood .mibgobogboboobooboogoboon -10
O00000000000C0000D0D00O (module type OO0 sig...end0 0000000
0)0000000.wmli0 -c 00000000000 0000OD .emi DO0ODOOOO
UOOfact.ml U00O0Omain.ml DO UOOO0OO0O0OOOOO0OO

igarashi@zither:samples> 1s fact.ml

1s: fact.ml: JUOOOOOO0OOODOOOO0OOOOOOOO0

igarashi@zither:samples> ocamlc —-c¢ fact.mli

igarashi@zither:samples> ocamlc -c main.ml
gobodbboobbdooboobbuoobbtiot . migbooboggbpIcTugn
gobobodbboogbbuooobbugobbuooboboboobboobboooooon
gogbbbooodn -iboggobboooobboooobobboooobbbooon
gobobooboggbbobod

gbbodbooobuodgboobooobuodboobobooboobooobuoobooon

ggboobouoogbooo

module Fact : sig (* contents of fact.mli *) end
= struct (* contents of fact.ml *) end;;
module Main
= struct (* contents of main.ml *) end;;

Uidbbib0dbD min.mli JOO0O0O0OMain OO OOOO0O0OOO0OOOOOOOODO

6 UUOOUOO0Ooooooon

gobbboodbbobuooobobboooobbbuoolboooobobbuooon
ggbooboooggooo
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goooooo
module type (00O OODO ) = (000000

(0000D00) ::= (000O0D0O0)
| sig (spec) 000 end
(spec) ::= val (OO ) : (O)
| (0OO)
| (0Oooo)

| open (0OODOODO)

0oooooo
module (0O0O0OO) [: (0000O0O) =(000000)

(000000) ::= (000000)
| struct (decl) 000 end
(decly ::= (letO0O)
| (000)
| (0OooOo)

| open (O0DDOOOO)

U 1. g0boboodggd

11



T Uooobouoooogn

gobbbuoobbbooogbbbooooboboan

exit U0 0O0000O0O0OO0OO0OOO0OOO0ODOODOODOOODOOO0ODO0ODOODUNIX
U true, false DO UOO0DOOO0OO0O0OOO0DOODOOOO

igarashi@zither:samples> cat true.ml

let _ = exit O
igarashi@zither:samples> cat false.ml
let _ = exit 1

guboobbdd ooboobboobbobobogsys DObOOOO argy OO

(string array 0 ) 00 0000000000000 ODOOOOO0OOODOOOOODOO
gobbobooobobobod

# let _ =

# for i = 0 to Array.length Sys.argv - 1 do
# print_endline Sys.argv. (i)

# done; ;

/usr/local/bin/ocaml

- : unit = ()

SysODUOOO0OO0O0OO0O0O0O00O0000000000 file_exists, HUOOOODOOOOO
0000 remove, renamell U U UODODUOUOOODO getenv DD UOOOODODOOONU

Printf OO0O0O0 O000OO0DOOODCO printf 000000O0ODOODOOODOOODODO
ggboouoodgooo

# let x = 110;;

val x : int = 110

# Printf.printf "decimal: %d hexadecimal: %x string: %s\n" x x "foo";;
decimal: 110 hexadecimal: 6e string: foo

- : unit = ()

UooboboobbooobogboboodooD fprintf, DUDOUOODOO0OOOOU eprintfl
UodbbbU sprintf UUODOODDODOOOOO

# Printf.fprintf stdout "decimal: %d hexadecimal: %x string: %s\n" x x "foo";;
decimal: 110 hexadecimal: 6e string: foo

- : unit = O
# Printf.sprintf "decimal: ’%d hexadecimal: %x string: %s" x x "foo";;
- : string = '"decimal: 110 hexadecimal: 6e string: foo"

12



Arg OO0O0ODOOUO0ODOOODOOOOD ArgOODOOODOOOOODOOOODDOO
0000000000000 00000000O0ODOO000O00O0OO00 (00000 )0
go0o0oooOodoboooooooooOooooo0obooOoooobDbooooooOogo
00000000 @oOo0)0o0DoO0o0ODO00oO00O0O00OOo0DOO0bDDOOoODOO
000000 (string * spec * string) list UO0OOO0OO0ODOOODO string 00O
O0000000 string000000OO0Ospec00000DO0ODOOODOODOODOODOO
go0ooOoO00ooOoOoboboOoobboOooobooooo

type spec =
Unit of (unit -> unit) G OOOO0O0O0OO0O0O x*)
| Set of bool ref x O0O0O0O0O0O000O0:
00000000 true OOOO0O %)
| Clear of bool ref « O0O0O00OOooOooo:
00000000 false OOOOO %)

| String of (string -> unit) (x DOOOOOODOODOO %)
| Int of (int -> unit) xO0Oooooooooo =)

| Float of (float -> unit) xO0oooooooono =)

| Rest of (string -> unit) x--0000o0obogog =)

gobbbuoodbbbOd0Arg.parse O OOOO

Arg.parse [("-n", Set display_num, "Display line number")]
(fun s -> filenames := s :: !filenames)
"Usage: cat [-n] filename ..."

o000 [...] 0000000 (D0D0OD0O0O n000)ODODODODDOOODODODOODOO
fun s > ... 000000000000 0O0000000000000 filenames U0 O U
goboodgbboooboodobbuooobbobbooobuooboboobbobooob
gboboggbbuooboboogbbooboboogbbobbuoobbooobboon
gobbobooobbbooaoboo

Jb0oobooboobdono UNIXO catU0ODOOO0DO0ODOODOODOODOO
gobood

let version = "0.1"
let display_linenum = ref false
let filenames = ref []

let spec = [("-n", Arg.Set display_linenum, "Display line number");
("-version",
Arg.Unit
(fun () -> Printf.printf "cat in OCaml version: %s\n" version),
"Display version number")]

let _ =
Arg.parse spec
(fun s -> filenames := s :: !filenames)

"Usage: cat [-n] [-help] [-version] filename ...";

13



if !display_linenum then print_endline "-n was turned on";
List.iter (fun s -> Printf.printf "filename specified is: %s\n" s)
(List.rev !filenames)

Uoobbobobb00ddUdUUArg.parse JOODOOO -helpdoooooooon
gogbboboooobbobuoooobboboogd

igarashi@zither:samples> ./cat -n a b ¢
-n was turned on
specified filename is: a
specified filename is: b
specified filename is: c
igarashi@zither:samples> ./cat -version
cat in 0OCaml version: 0.1
igarashi@zither:samples> ./cat -help
Usage: cat [-n] [-help] [-version] filename ...
-n Display line number
-version Display version number
-help display this list of options

Exercise 8.3 UNIX U cat OO0 0OD0O0OODO0OO0ODOODOODODO0ODOODODODODOODOO
gobbbdd-ngobboboooobbboooobbbooobibibdman g
goon

Exercise 8.4 UNIX O we U0 O0O0O0O0OODOODOODOODODODOODOOOOODOODO
gobboboooobbbdodmanddonooogoon

Exercise 8.5 UNIX [0 foldODOODOUODOOOOO0OOOOOOOOOOOOOODODO
gobogubl -wObooooooobboobbooooobbuoobbdd man O
ggooobod

A 00000038 00120 190

O000: 6.2 6.3,6.6,6.8,6.9, 7.3, 74,76, 78,81,82,8350300000 200
0000000: 0680000000000000

gobobobooogn s3bbdouuobobbuoooobobboooobboboooon
0000000000 0000oD(0)000D0D000000D000DD taer00000O
gobobooobobooobboooboobobbobbooobboobbooobboon
gbobobooobuobboobboogbbuooobbobbooobbuoooboboob
goboooogod
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